H £ 0 &8 AFSY H A A
SN At
2 S22
Sl SHEL L S MY
= d L
SH - HB - SRA(S) - MSAY - BES of & o 8 DS
Ol A 2t 51,068,245 46,423,175 4,645,070
= 72,629
Al 50,995,616
SN2 357,581 306,630 50,951
= 72,629
Al 284,952
Sz 357,581 306,630 50,951
[= 72,629
Al 284,952
(Ex=)SHEZ EHOIX 22l 7,649 19,799 212,150
101 QI 244| 7,649 14,799 AT,150
ADJIZHZEREES 7,649 14,799 A7,150
OENHBRE LAAMTAEY 6,924
oJez 44,3809 « 19 « 262 « 6 6,924
o=plozRg= 6,924,000 * 4.5% 312
oneggard:= 6,924,0008 * 1.5% 104
oMY AEE 2 6,924,0002 * 1.3% 91
ORDIHABH LI 6,924,0002 * 2.945% 204
ORI UTEHIRLYS 204,000 * 6.55% 14
(E=)JIEH EHXEAM 33,740 57,429 A23,689
201 et 32,300 17,500 14,800
01 AFR 22/ HI 32,300 17,500 14,800
OEH B L2t 9,200
O 2 COME 40,0002 * 230= 9,200
O'EHZE= HF' L2 17,0004 * 300 5,100
OHEXT H=E 18,0002 * 1,000= 18,000
202 01| 1,440 0 1,440
01 2ol 1,440 0 1,440
OENYR=TOYI
20,0002 * 3% x 52 * 62 » 80% 1,440
(HZ)MAMIIZEHTA 117,253 122,307 25,054
= 31,398
Al 85,855
101 @124 ] 104,658 106, 112 A1,454
= 31,398
Al 73,260
It 2RNEES 104,658 106,112 A1,454
OMNYHZTAIRY B2 104,658
ozeled
48,190 » 119 * 272 + 80/100 11,450
[= 3,435
Al 8,015
OXA2 46,0002 * 812 = 262 * 80/100 77,501
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A HlAHE 2D
T gL
chel: SAHESZ2e (et HH)
S EH . G(3H) - HEAY - By S ol aro e HIDS2
& 23,250
Al 54,251
O U LHHSY
3,9508 » 128 * 242 * 80/100 10,127
= 3,038
Al 7,089
OYDXY 43,9508 * 4% = 272 * 80/100 3,798
[ 1,140
Al 2,658
O4th MEIEEE 1,782,000& 1,782
= 535
Al 1,247
201 Er2ZH| 12,595 16,195 A3,600
01 At 22/l 12,595 16,195 A3,600
OAMYHZEA H& ROl 7,285
OXZME A& R0 1102 = 50,0000H 5,500
OFANR 2 & =X
(3002 * 900Z=AFR) + (5008 * 3004 ) 285
OTZARE Ot 8,000& = 1504 1,200
OS2 B (T A ZATH) 2,0008 * 15004 300
OAFE XM ZEAL EE 70,0002 » 3304 2,310
OAMSEMZEAN E0DN L2t 20,0002 = 150% 3,000
(F)sHgt 2 23 76,830 60, 130 16,700
201 Yet2 et 74,130 57,130 7,000
01 At 2teltl 74,130 57,130 17,000
OSHHE &2t 50,000& *2005 10,000
OEHOIXE X2 (e-book) M = 3,000
OsAHHE 1,500,000& +13] 1,500
OBNEHSETANEIA  1,500,000&*13] 1,500
O MSHSETAF EDN &2t
25,000& 2505 6,250
08z 2= & &2 15,000& x 1,000 15,000
OXALR+E HMZ 25,000
OEXl M=% 7,000& 1,000 7,000
OWX M= 18,000& *1,000% 18,000
OEAXNZHZEZZ Y A &2
200,000& 128 2,400
OB HEHSE AL =2 HE
80,000& 2 x130 S ™ 2,080
OZEMN HEE E=2LH A 200,000 *224 400
OFAZ HHXZHMZ 5,000& *2,0005 10,000
202 Gd | 2,700 3,000 A 300
01 2oLl 2,700 3,000 A 300
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SA: O ERD
3 )L
S SHZZ 2L (e
- - L5
S - B SA(SAA) - NN - BES Of &t o o HDS2
OLUZBEHZAMN NE L 4AXE OHl &R
2 2,700
(HEOAILS HII ZEHTAHEH) 35,104 37,033 21,929
=3 10,532
Al 24,572
101 Q1244 35,104 37,033 ~1,929
< 10,532
Al 24,572
04 JIZRZ2NSES 35,104 37,033 21,929
OAHI ZSHZAHBE) 35,104
== 10,532
Al 24,572
(BROMSXEHY SHEAH(ZHI) 38,512 8,532 29,980
& 14,300
Al 24,212
101 QA 38,512 8,532 29,980
= 14,300
Al 24,212
04 JIARZENE RS 38,512 8,532 29,980
OABI K BN L SHZE A 38,512
=S 14,300
Al 24,212
(BF)ZY - HMEZYSAHAEA 1,400 1,400 0
201 Yer2 1,400 1,400 0
01 At 22/l 1,400 1,400 0
OZY - MZYZA B2 70,0002 * 200H 1,400
(H=)ESMSXNENLSAHAEZMN 47,093 0 47,093
= 16,399
Al 30,694
101 Q1244 26,590 0 26,590
= 13,295
Al 13,295
04 JIARZENEES 26,590 0 26,590
OMBINEMNLEHZTARE B4 26,590
OZEARE 46,0009 * 29% « 16 21,344
= 10,672
Al 10,672
OFArga 2 A
43,9508 * 1% » 5 2,418
S 1,209
Al 1,209
OZAF2IXH 49,6102 » 3% » 19 2,828
< 1,414
Al 1,414
201 YEr29| 20,508 0 20,503
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SAAE R
Hm: s
He SAEE2e CEREE)
- - d A
S - B BRA(EA) - HTAY - B 0f e o Soa DS
= 3,104
Al 17,399
01 At 22|l 20,503 0 20,503
OXAE E A& 1,000& » 3,493% 3,493
= 372
Al 3,121
O=ANES F¥ 10,0008 = 438 430
= 50
Al 380
O21AM &2t 40,0008 * 175% 7,000
& 1,200
Al 5,800
o8+ 60,0002 * 4324 2,580
S 282
Al 2,298
OE=2=E= 10,0002 = 7009t 7,000
S 1,200
Al 5,800
GiE]hs] 18,123,367 17,706,814 416,553
GiRe]le] 18,123,367 17,706,814 416,553
(EF)ogll 12,687,940 11,266,104 1,421,836
801 Gllbll 12,687,940 11,266,104 1,421,836
01 Ollbl bl 12,687,940 11,266,104 1,421,836
ooyl 12,687,940,000& 12,687,940
(F&)oldldl 5,435,427 6,440,710 41,005,283
801 ol bl 5,435,427 6,440,710 41,005,283
01 olldll 5,435,427 6,440,710 21,005,283
ol 5,435,427
gy At 642,764 434,692 208,072
SEXQ AEMR 416,062 420,620 44,568
(BF)HIFQ ASME = 232,632 233,720 21,088
201 eetzdyl 128,100 128,100 0
01 ArR2-2l b 128,100 0 128,100
OUNEHSA =& 21,600
OoJle 300,000& = 48 » 128 14,400
Oz=1H(52101 &) 600,000& = 12& 7,200
OLE/E =& 5,000,000& = 20A 100,000
02L& 4~5HIS 6,500
OXI 200,000 * 202/ 4,000
OsEa 50,000& * 502 2,500
202 048l 4,032 5,120 41,088
01 =W ol 4,032 0 4,032
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SN OlaE R
M €N U3
Sel: BEHO ABMER (Ere): a2
= - PSHE]
SH-HH-G(3) - HEAY - BES 0 &k 04 i HmE2
P EEESTICT]
20,0008 * 3% * 72 * 128 » 80% 4,032
301 LB A 500 500 0
11 JIEH2 &3 500 0 500
©%E 25 52 ofl 50,0008 * 102 500
305 A2 S 100,000 100,000 0
01 tHA2S 100,000 0 100,000
O2&ARM HIAS 0,000,002 * 1021 100,000
EESELET-EX 183,420 186,900 3,480
201 LEH2 & | 98,120 101,900 23,780
01 AL 22t 98,120 101,900 £3,780
ONSHEAN £Y 10,200
o4y
(250,0002 22 +62 ) +(300,0002 x22 62 ) 6,600
ONSZED +(520014)  600,0002 62 3,600
OLBAYELES ABHIE 80,000
OHEFE QALY MHIA $42
660, 0002 « 122 7,920
202 01t 1,800 2,000 A200
ETEE 1,800 2,000 £200
OL&+HOH AR 1,800
301 LB AD 500 0 500
1 JIEH2 42 500 0 500
orsLHEl A 50,0002 * 102 500
303 TAS 3,000 3,000 0
ERE) 3,000 3,000 0
OABLHUNTYZ 300, 0002 102 3,000
305 A2 S 80,000 80,000 0
01 A 3S 80,000 80,000 0
OLELHWAS 80,000
HERS HZ 206,712 14,072 212,640
(RE)UX R 22l 84,953 14,072 70,881
101 21214 7,649 0 7,649
MOIZH2EZRS 24 7,649 0 7,649
ONXIY R 0BRE olRY
44,3808 « 12 * 262 * 62 6,924
CELEL 6,924,000 * 4.5% 312
CRELEEE S 6,924,0002 * 1.5% 104
OMUATIHEALEE 6,924,008 * 1.3% of
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SN oA R
HH: gesy 23
o HEXE MZ CEREED
5 SIE|
S - B S9I(SH) - HRAY - B 0f &4 S H@mS2
O=uiZoaaSas 6,004,008 * 2.945% 204
OXIIQULHIELD 204,008 * 6.55% 14
201 YE 2| 12,804 14,072 A1,268
01 AR 22| 12,804 0 12,804
ogemuNz 22 3,084
SN 7,008 * 1% * 122 84
OX+xI ol & 5,008 * 1005 * 63] 3,000
CEERP G 6,720
oUsteI=EY =2
120,000 * 3& * 128l 4,320
OXX®H %= 120,008 » 108 * 28l 2,400
WEDSDUR 10,0008 * 28 * 1502 3,000
308 XHXIEHRI SO0 H 64,500 0 64,500
05 MRSt 2SS 64,500 0 64,500
CEE EENELIPEET]
1,500,008 * 6% * 1/2 4,500
OEBAAE HE Zdier R0l
1,500,002 * B0 * 1/2 60,000
(HR)S8 A 2% YR Z| 141,759 0 141,759
101 Q1248 12,759 0 12,759
M4 IIZtH22XSE = 12,759 0 12,759
OX X K2HY 41,7002 %124 %2702 11,259
o4t 2EE 50,0002+ 124+ 102 1,500
201 Yer2 Y| 29,000 0 129,000
01 AR 22l 29,000 0 129,000
OZFHAEME T2 20 1,500,000 65 9,000
OSEAAE HE Ty RO
1,500,000 *80 120,000
2P (o ARt 66,015 75,700 A9,685
=l 66,015 75,700 £9,685
(H)Jl=2dl 66,015 75,700 £9,685
201 Yer2 | 19,260 21,400 £2,140
01 AR 22l 19,260 21,400 A2,140
oRA2H Hlam 12,660
CEET] 6, 0002 %20 %2502 x22% 6,600
202 01 bl 35,640 39,600 A3,960
NETET] 35,640 39,600 3,960
o=l HaEY 35,640
203 2R ETY| 6,915 7,500 £585
01 J|22ZLRF2| 3,135 3,300 A 165
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A oaERt
ME: HEHS AL (HAEDD)
ohelr D123l (HHe &)
[ % ol (5 [ = oM A =2}
SAH -3 . (3H) - HEAY - BHES Ofl &+oH 0l Ak o HusZ
OJIEE2aE HaEZ 3,135
04 2A2ZILRF2HI 3,780 4,200 2420
OSMNSAYRTTY KAEY 3,780
204 MR A 4,200 4,200 0
01 MBI R A Y 4,200 4,200 0
OJIEEEAE N Z 350,000& x1H = 12& 4,200
HWs 249 1,576,978 1,373,754 203,224
AXMNE 24 1,576,978 1,373,754 203,224
(BF=)a8d2 oatEyg 2 186,177 170,798 15,379
201 24| 171,382 155,639 15,743
01 Ar222/ | 168,982 153,239 15,743
OXguAEd2H AE U= 154,750
Oofl &t A 150,000
—AF Ol A 84,000
AP Ofl AEAL (OF)
120,000& * 1002 * 33 36,000
< AP Ol AA (S AIA)
120,000& = 1002 * 33| 36,000
< AP Ol A A
120,000& * 1002 * 13| 12,000
-4 QL XI G| &F 16,000
A OLXI Ol &H( Q)
80,000& = 1008 * 13 8,000
- HOIX 0l AP 80,0008 = 1005 * 13 8,000
~& IOl AF 26,000
- A0 ARA 130,000& * 100% * 13 13,000
AWME DA 130,000& * 1002 * 18] 13,000
-SHE0AHSE) 24,000
S0l ak(or)
120,000& * 100% * 13 12,000
=0l AN 120,000& * 100% * 13 12,000
ooflaras 2ENZ 7O 4,750
-Hler& A A 5,000& * 50% * 33 750
-0l AFE A A 10,000& * 2008 * 28 4,000
QU AEHE AIRID| 228 5,160
OEUY 3,960
-2z 450,000& * 62 x 13 2,700
-=EH 210,000& = 304 * 23] 1,260
ocd 600,000& * 204 = 13 1,200
QU AHRFE S &I
6,000& * 78 * 202 * 128 * 90% 9,072
02 22234l 2,400 2,400 0

-255-




A
T EH
=T I

el

SN ZH - B(EH) - NTANY - BES Of ¢ See DS
FERECEEEENEECIESE]
40,000,000 * 6% 2,400
202 o4l 14,795 15,159 2364
01 =W ol 14,795 15,159 A364
OESER &€ g =2 ol 14,795
Ozl 20,0003 = 6& = 30 = 43 = 80% 11,520
o= 75,800& * 3 x 3& « 63| * 80% 3,275
(BF)oZzHe2 o SHoAYET 473,018 384,392 88,626
201 Zer2gd| 21,400 17,520 3,880
01 AtR2tel bl 20,200 15,520 4,680
O=CHl =AY €812
20,0008 = 1008 = 23l 4,000
OFNMHE =2 & sotAd =& S &HI(POOL
) 6,000& » 25% « 10& * 123 » 90% 16,200
02 SS=2&U 1,200 0 1,200
OEUAS MEZ(AETHE &)
100,000& * 104 = 128 1,200
202 04l 410,618 324,872 85,746
01 =W odbl 58,618 56,352 2,266
OC2AETHH=E & SHOAIHFA 58,618
OZtW 20,0008 » 30¥ = 22 = 83| » 80% 7,680
OZ2 75,8008 * 30F * 42 = 73 * 80% 50,938
04 =Kl =0l 352,000 268,520 83,480
A2 ofelds 150,000
ogse 1,700,000& * 20& * 23 68,000
OH A 410,000& = 20& » 5& * 23] 82,000
O FAtdl=8 2= 202,000
Ordg 126,000
-3 3,000,000& » 20¥ 60,000
—HI TH 550,000& » 20¥ » 6 66,000
OOLAlI O 76,000
-3z 700,000& = 20& * 23] 28,000
-HIxH 400,000& = 20 » 6 48,000
203 Y R=24| 41,000 32,000 9,000
03 A=A =AY 41,000 32,000 9,000
OME2Y & SAHAL=E MEH
24,000,000& 24,000
O2dZEMEY =& = 10,000,000& 10,000
ONLUEA =2 =N 7,000,000 7,000
(BF)ZZ) HEWE =29 21,774 21,150 624
201 fer2dEdl 14,974 12,750 2,224
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2A: Glatg R
MM PR 29

B A8WE 29 (28 g)
SH - FB - S9(EN) - NSAY - BES o &y Sie HIDE2
01 AtR2eldl 14,974 12,750 2,224
OSIINLMEAHEAS & HAKLE M 7,950
O NLMHEHAHEA () 15,0008 = 70% 1,050
OSINLHE A=A 15,0008 = 100 1,500
OSSUMIEHAMLE M
30,000% * 505 * 33 4,500
OJl==2s8di24d 20M N
15,000& * 60% 900
OF2YR ANEAHEAM M=
50,000& * 205 » 13 1,000
O FAMY SHEE M= 500,000& » 274 1,000
OEQ WM &K= M
10,0008 = 1002 * 23 2,000
OBIIMEAE & ST SEHl
6,0008 * 4% » 20& « 7& » 90% 3,024
202 Gl 4,800 6,400 21,600
01 ZLHOIHI 4,800 6,400 21,600
OBJIMEAHS & SETAAFL Oy
20,0008 = 3% = 10& » 108 » 80% 4,800
203 YR =2l 2,000 2,000 0
03 A=A HRF&H 2,000 2,000 0
OZJIMEAE & AL =& 2,000,000& 2,000
(BF)MSEHEES 22 2,800 3,400 2600
201 ZEr2H | 2,800 3,400 2600
01 AFR 22l 2,800 3,400 2600
OMIIHHNEZZS AALE 20,0008 = 70% 1,400
OAMHHEXRS AZEIL =AY
20,0008 = 70% 1,400
(EF)ANLEHO0AH 293 8,220 6,500 1,720
201 ¢Er24| 8,220 6,500 1,720
01 At 22|l 1,000 1,200 A200
OuAtE AR 25 1,000
OF|2 Mt H= 10,000& * 1008 * 13 1,000
03 A2 &I 7,220 5,300 1,920
Oollatatn =29 7,220
OO0l &HEr D A& 220
-Jl= 120,000& * 12 120
-= 100,000& = 13 100
OUMHOAILAZE IS
7,000,000& = 13 7,000
(Ba)ugnzoaey sl &2 99,845 99,917 AT2
201 ¢er23| 59,400 70,917 A11,517
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2AM:
X EH
=

&

. 4 SIE
SA B - BR(H) - MEAY - BaS ol ko4 Che HIREY
01 AFR22ld| 59,400 70,917 A11,517
OYXUAM RO Ol &= 2 9,000
OFHOAA(38]) R0 ofatE2 21,600
OO0l AatoH(43]) SAHl GlatEZ 18,000
OUANHEHIRE S OlatE2 900
O MUl AA 2ol ol arE 2 9,000
OHUXIMAN FOI OlatEZ 900
202 GiHl 4,500 5,000 A500
01 2 I 4,500 5,000 A500
OMAELUR AZESEY HaEZY 4,500
203 LR =& 13,050 15,000 21,950
03 Al HE=RHRFAIH| 13,050 15,000 21,950
QU AE Y ARFX M &EZ 13,050
204 2R3 A| 10,895 9,000 1,895
03 SEZLRZHI 10,895 9,000 1,895
ouagd3RA 10,895
308 ARSI SOl A 12,000 0 12,000
05 MXIESH2tRE 2 12,000 0 12,000
OSE AN RO 100, 000 & 240 *50% 12,000
(HI)MEAHE 3,420 4,684 A1,264
201 2 B2 A Y| 3,420 4,684 A1,264
01 At 22l bl 3,420 4,684 A1,264
OBIIXNLMEAHE ROl GlAHEZ 900
OXNLUTHEHE AMARARASZ Y OloHEH 1,260
OEY A A/AAS =C HaE2 1,260
(H2)AMS S EEX 2 561,024 484,013 77,011
201 2| 945 1,050 2105
01 At 22| 8l 945 1,050 2105
OMISHEZSXE AHAAE =< HLA
2t 945
307 2I2+01A 560,079 482,963 77,116
03 AtBIMEZZ 560,079 482,963 77,116
OMBIEHEZZ(IIEN) 560,079
(HahHoazd ZANE 29 10,000 10,000 0
303 A2 10,000 10,000 0
01 ZAZ2 10,000 10,000 0
OUMEASRA LItz 10,000
(He)HZXZ22RE 70,000 70,000 0
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ool ABWE 29 (29 28)
x . d L
SA - B SA(S) - HTAY - BES of & S50 DS
202 (il 70,000 70,000 0
04 = M 3t0d 70,000 0 70,000
OS2 o2l exi0r2 o bl (POOL) 70,000
(Za)ouuags2e 140,700 118,900 21,800
101 21244 41,700 38,900 2,800
04 JIZtHZ2 2 s+ 41,700 38,900 2,800
@JIZtHMZ22X & 24=(P00L)
41,7002 108 =100 41,700
201 €et2gl 27,000 30,000 43,000
01 AFR 22l 27,000 30,000 43,000
OZZYF=X(POOL) OlarE 2 27,000
202 Ol 27,000 30,000 A3,000
01 =08 27,000 30,000 A3,000
OZHANHMLRZX(POOL) Ol &HEZ 27,000
405 AH&FF SHI 45,000 20,000 25,000
01 Tt = SF S| 45,000 20,000 25,000
OF=+ ¢ HZ+28 7 (POOL) OlarE 45,000
Heas(oaya) 30,301,540 26,495,585 3,805,955
BEXE 19,170,250 14,999,331 4,170,919
(B=F)eHE= JIE 1,010,218 1,803,740 AT793,522
802 gtet=J1 Et 1,010,218 1,803,740 AT793,522
01 2NEXStHe= 710,218 1,048,442 A338,224
O=21DEES AIZLN etets 710,218,000¥ 710,218
02 Al - CHIEXSEES 300,000 755,298 A 455,298
OTHIEXZZ MSEY grats 300,000,000 300,000
(HF)NLH ae 12,573,532 12,644,000 270,468
311 XL SO0 & & 4,123,532 4,094,000 29,532
01 Al - 2 - FRAGNLI =X L S0 A& & 2,974,954 2,740,500 234,454
O'03.HHESMAHT T LA
8,400,000,000% = 3.5/100 294,000
O'07.EFIN2+E T2HISA
9,000,000,000&  3.5% / 3652 * 367 316,727
©'07. BN ~&tg2t 2L S A
9,000,000,000& = 3.5% / 3652 * 367 316,727
©'B.3=UHHFIEZ(FL~-2S)HESA
10,000,000,000& = 3.5/100 350,000
©'0B.EFINZ+ZE T2EHIYSA
10,000,000,000& = 3.5/100 350,000
©'08. X ~atd 2t E2IHESA
5,000,000,000% * 3.5/100 175,000
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sy S PNT=2 =)
H: HRES(0aAtE2D)
a@e: SIS (2 dH)
PSIE]
SH-FHH.O(3H) - MEANY - HES 0ff kol ‘oﬁ{;% Hnsz
©'09. HARX ~AAE2E TRIPLE B A
5,000,000,0002 * 3.5/100 175,000
O©'11. AH2228 BBCIXQ TAALY
3,500,000,000& * 3.5/100 122,500
O©'12. M2 2 NLHESYAIY (XHE)
15,000,000,0002 * 3.5/100 525,000
O'13. 2NN P~A=2DXE T2HL
8,000,000,0002 * 3.5/100 280,000
©'13. 22~ C2H4
2,000,000,00084 * 3.5/100 70,000
03 ELHEP IS 0| XHarE 1,148,578 1,353,500 A204,922
©'99.HZQB=ET 2L
1,850,000,0002 * 3.0% 55,500
©'03. B MAX T AL
3,500,000,0008 * 2/100 70,000
OMN.2EUHNRIZTZ2(EL-LE)HLBA
10,000,000,000€4 * 4.07/100 / 365 * 367 409,231
ol
O'11.EZYH-24 CR2E ALY
10,000,000,0008 * 4.07/100 / 3652 * 367 409,231
ol
O'11.2FH FAAZALE SHAY
5,000,000,0002 * 4.07/100 / 365 * 367 204,616
601 Xt = SatE 8,450,000 8,550,000 A100,000
01 Al - 2 - RSN SXLSAS 48 5,900,000 3,400,000 2,500,000
©'03.HUSSMARZLALY
14,000,000,0002 * 1/10 1,400,000
©'07.MFIN2LEU TRHFIAM
10,000,000,0002 * 1/10 1,000,000
©'07. HAX~AE 2 TR2IHEZ A
10,000, 000,000 = 1/10 1,000,000
©'08.2ZEUHHRIT2(EL-LS)HLZA
10,000,000,000& * 1/10 1,000,000
©'08. HAR~AE 2 E2IHA
5,000,000,000& * 1/10 500,000
©'08.MTINZ2LYU TR2HITIA
10,000,000,0002& * 1/10 1,000,000
BEYHRIUI IS HE 2,550,000 5,150,000 22,600,000
©'09. BTS2 &
18,500,000,000& * 1/10 1,850,000
©'03.EUS2SAAT T T L ALY
7,000,000,000& * 1/10 700,000
(BH)EdEX=E 5,586,500 551,591 5,034,909
311 Xt 20| KAt s 536,500 401,591 134,909
01 Al -2« 2RSS ISR L 20| Kot st 385,000 0 385,000
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BHEXE (et &)
S - B S9I(300) - NRAY - BES o & She HmE2
OUE-2=2 =2 HEFY A A= Ok
2,000,000,000& *3.5% 70,000
ORF-HAN TRHITR TA XU 0K
1,000, 000,000& *3.5% 35,000
ONF &3 =2HEH SA A= OlX
1,000,000,0002 *3. 5% 35,000
OLEH-SLMUE SESA I3 01X
2,000,000,000& *3.5% 70,000
O=s0IEHIOISE Z8AE Xtes Okt
5,000, 000,000 *3. 5% 175,000
03 SLTYFXNYSOIA&H& 151,500 0 151,500
OsI=sdH MAEZA I3 01X
1,050,000,000& *3.0% 31,500
OLESEEAR SN2 A8 Y= Ol Xt
2,000,000,000& *3.0% 60,000
OLEM2 2HE Xz OIR
1,000,000,000% «3.0% 30,000
OS0IHEAL & SXz2 A Hd= 0Lk
1,000, 000,000% «3.0% 30,000
601 Mt =S4 550,000 150,000 400,000
03 ELYRNY=Rade 550,000 0 550,000
OsZIIsdH AESA (20094)
1,500,000,000& *1/10 150,000
ORETEAE SN2 248 (20114)
2,000,000,000& %1/10 200,000
oOEZAM2 A (20114)
1,000,000,000& *1/10 100,000
OSOIHF AL & SX5/2 A48 (20124)
1,000,000,0002&%1/10 100,000
802 etat=J|Et 4,500,000 0 4,500,000
0Ol =ExseEs 3,500,000 0 3,500,000
o=nExz= gE=s 3,500,000
02 Al - ZHIEZSEE=3 1,000,000 0 1,000,000
OcHExX= Eret=s 1,000,000
UWEHHAZ 11,131,290 11,496,254 A 364,964
(BF)ANg2esH2sXE 11,131,290 11,496,254 A364,964
09 HE= 9,603,241 9,306,763 296,478
02 3A- SHBMEES 9,603,241 9,306,763 296,478
OoAN&gzelsH 288 2 9,603,241,000& 9,603,241
404 B SNE2HES 1,528,049 2,189,491 A661,442
02 SA - SHANEHES 1,628,049 2,189,491 A661,442
oANgZelSH AH=2HEH Ex
1,528,049,000& 1,528,049
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